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O JIZ2 =0 4,320,000 4,320
l2dH(MHEESE) 5,640 6,308 2668
201 er23| 3,840 4,148 A308
01 At2teltl 3,840 4,148 A308
O NSS=EE 2 Sl
3,840,000& 3,840
202 048l 1,800 2,160 A360
01 2L A 1,800 2,160 A360
O Jl& =Wobl 1,800,000& 1,800
JI2ZHI(SCHTHOHOITF) 6,480 0 6,480
201 223 2,880 2,880
01 AtR2t2lt] 2,880 2,880
O SUHMHAHLTF 28 S|
2,880,000 2,880




FA HEUSH
M HAPAZH|(AHEDSH)
Sl J|2dHI(HE NS (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 3,600 0 3,600
01 2LHoIH 3,600 0 3,600
O J1Z2 = 3,600,000& 3,600
Hegs(etdnsn) 356,585 311,746 44,839
WRHeHXIE (AN nSH) 366,585 311,746 44,839
WRAHHXIE (AN NS ) 366,585 311,746 44,839
RISdES 366,585 311,746 44,839
01 oIsdE=s 366,585 311,746 44,839

O Me2eDls d&= 356,585,000 356,585




